Addition tables


a) Tables of 0, 1, 2
	+ 0
	+ 1
	+2

	1 + 0 = 1
	1 + 1 = 2
	1 + 2 = 3

	2 + 0 = 2
	2 + 1 = 3
	2 + 2 = 4

	3 + 0 = 3
	3 + 1 = 4
	3 + 2 = 5

	4 + 0 = 4
	4 + 1 = 5
	4 + 2 = 6

	5 + 0 = 5
	5 + 1 = 6
	5 + 2 = 7

	6 + 0 = 6
	6 + 1 = 7
	6 + 2 = 8

	7 + 0 = 7
	7 + 1 = 8 
	7 + 2 = 9

	8 + 0 = 8
	8 + 1 = 9
	8 + 2 = 10

	9 + 0 = 9
	9 + 1 = 10
	9 + 2 = 11

	10 + 0 = 10
	10 + 1 = 11
	10 + 2 = 12

	11 + 0 = 11
	11 + 1 = 12
	11 + 2 = 13

	12 + 0 = 12
	12 + 1 =13
	12 + 2 = 14


b) Story of 10

	1
	+
	9
	=
	10
	Is the same as
	9
	+
	1
	=
	10

	2
	+
	8
	=
	10
	Is the same as
	8
	+
	2
	=
	10

	3
	+
	7
	=
	10
	Is the same as
	7
	+
	3
	=
	10

	4
	+
	6
	=
	10
	Is the same as
	6
	+
	4
	=
	10

	5
	+
	5
	=
	10
	Is the same as
	5
	+
	5
	=
	10


c) 10+ tables

When you add 10 to a number (1- 9), you put a 1 before the number to get the answer to get the answer: 10 + 7 = 17
	10+
	
	
	
	
	10
	+
	5
	=
	15

	10
	+
	1
	=
	11
	10
	+
	6
	=
	16

	10
	+
	2
	=
	12
	10
	+
	7
	=
	17

	10
	+
	3
	=
	13
	10
	+
	8
	=
	18

	10
	+
	4
	=
	14
	10
	+
	9
	=
	19


d) 9 + tables

When you add 9 to a number, use this trick: add 10 and take away 1

	10+
	
	
	
	
	
	9+
	
	
	
	

	10
	+
	1
	=
	11
	so
	9
	+
	1
	=
	10

	10
	+
	2
	=
	12
	so
	9
	+
	2
	=
	11

	10
	+
	3
	=
	13
	so
	9
	+
	3
	=
	12

	10
	+
	4
	=
	14
	so
	9
	+
	4
	=
	13

	10
	+
	5
	=
	15
	so
	9
	+
	5
	=
	14

	10
	+
	6
	=
	16
	so
	9
	+
	6
	=
	15

	10
	+
	7
	=
	17
	so
	9
	+
	7
	=
	16

	10
	+
	8
	=
	18
	so
	9
	+
	8
	=
	17

	10
	+
	9
	=
	19
	so
	9
	+
	9
	=
	18

	10
	+
	10
	=
	20
	so
	9
	+
	10
	=
	19


e) Doubles and near doubles (take away 1)
Use the doubles to help you think of the near doubles.

If 7 + 7 = 14, then to get 7 + 6 you must take away 1 (14 – 1 = 13)

	Doubles
	Doubles -1

	1
	+
	1
	=
	2
	so
	1
	+
	0
	=
	1

	2
	+
	2
	=
	4
	so
	2
	+
	1
	=
	3

	3
	+
	3
	=
	6
	so
	3
	+
	2
	=
	5

	4
	+
	4
	=
	8
	so
	4
	+
	3
	=
	7

	5
	+
	5
	=
	10
	so
	5
	+
	4
	=
	9

	6
	+
	6
	=
	12
	so
	6
	+
	5
	=
	11

	7
	+
	7
	=
	14
	so
	7
	+
	6
	=
	13

	8
	+
	8
	=
	16
	so
	8
	+
	7
	=
	15

	9
	+
	9
	=
	18
	so
	9
	+
	8
	=
	17

	10
	+
	10
	=
	20
	so
	10
	+
	9
	=
	19

	11
	+
	11
	=
	22
	so
	11
	+
	10
	=
	21

	12
	+
	12
	=
	24
	so
	12
	+
	11
	=
	23


f) Doubles and near doubles (add 1)

Use the doubles to help you think of the near doubles.

If 7 + 7 = 14, then to get 7 + 8 you must add 1 (14 + 1 = 15)

	Doubles
	Doubles +1

	1
	+
	1
	=
	2
	so
	1
	+
	2
	=
	3

	2
	+
	2
	=
	4
	so
	2
	+
	3
	=
	5

	3
	+
	3
	=
	6
	so
	3
	+
	4
	=
	7

	4
	+
	4
	=
	8
	so
	4
	+
	5
	=
	9

	5
	+
	5
	=
	10
	so
	5
	+
	6
	=
	11

	6
	+
	6
	=
	12
	so
	6
	+
	7
	=
	13

	7
	+
	7
	=
	14
	so
	7
	+
	8
	=
	15

	8
	+
	8
	=
	16
	so
	8
	+
	9
	=
	17

	9
	+
	9
	=
	18
	so
	9
	+
	10
	=
	19

	10
	+
	10
	=
	20
	so
	10
	+
	11
	=
	21

	11
	+
	11
	=
	22
	so
	11
	+
	12
	=
	23
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